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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting
questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in a medium other than the
authorized one.

Assume suitable data, if considered necessary and indicate the same clearly.
Unless otherwise mentioned, symbols and notations carry their usual standard meanings.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even If attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

i E—

Ql. (a) =7 1(a)¥ g9 U F2ash ¥ T=fafaa &1 sa Hifso
(i)  3fuehan wIfh TYMTGW Bq o8 Sty 61 am
(ii) I8 W 929 3Afgehaq wfs H g1

N

3 Q 4 € a
VAVAVAV + VAVAVAY O
Ry Ky '
|
R, %,
b |
7 1(a)
In the network shown in Figure 1(a), determine the following : 10
(1) The value of the load resistance to have maximum power transfer

(1) The maximum power delivered to the load

3 €2 4 €2
VAVAVAY * NAVAYAY

R4 Ry

5V S Q) }W
R, R,

O =

ap®

Figure 1(a)

(b) g faegd 9 4 "uEy queiyE qUaAYd (SIEscifecdd) U WHAA z = 0 W
fera 8 |Wz>0%,ﬁﬁ.rl:4%3ﬁ13{az<0%,?'I':TEI.2=3% | Th
> " s
Wﬁm%ﬂ E1=5’5K—2§F+3 a., ka’m,zEOE}ﬁHﬁ'ﬂlTW%I
FTd it
i
(1) zg()a}ﬁ'ﬁEiz

(i) Tl qUaEal 4 FHat H ged (J/m3 H)

SDF-U-ELTE 2
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Two extensive homogeneous isotropic dielectrics meet on a plane at

z=10 Forz>0,¢. =4andforz«<0,¢e. =3 A uniform electric field

=2 A oy N L A ; 2
E, =5 ay—-2 a, +3 a, kV/m exists for z > 0.
Find : 10

o ¥
(1) E, forz <0

., (ii)  The energy densities (in J/m?3) in both dielectrics

(¢c) T=F lic) § TIIY W 99y & 2iiaeel 89 T DC fae yfaoy smq Shifso

+
+ Vo

R

I%'E/'I(c)

Find the DC input resistance at the transistor base of the circuit shown

in Figure 1(c). 10

Figure 1(c)
SDF-U-ELTE 3
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(d) TS 15 kW, 230 V, 3-8, Y-Hde8 50 Hz, 4.9 Uit (R &vat) T
W H ARHF FA-3T0 115 wfasra qen etfereray set-2mgl 187 wfawm,
I & AYa/3THd A Sa-3Teul 1 B | Vel ity ud guiicas g &
TS I AM0G AHEd g VR Fhatg & oAl fer wmr S, dr srfushan
-0 W T 7q Wi} & e 3t =« %1 ae fuifa difse | afe
A &1, a1 3t =AreEnid & w1 3faa 2o g ofifau

A 15 kW, 230 V, 3-phase, Y-connected, 50 Hz, 4-pole squirrel cage
induction motor has a starting torque of 115 percent and a maximum
torque of 187 percent of its rated load torque. Neglecting the effects of
stator resistance and rotational losses and assuming constant rotor
resistance, find the slip and speed at maximum torque. Assume proper
data, if required, with proper justification. 10

(e) Ueh TMEU-A IR 9wy H= o 1e) T fommn mn 2 foaw us die &g =l
DC &1d 8 3gfd 6t 1 @ 8 | T9F T8 g7 W A & T ad, 9 &
feaa SW H varigd 3I=a9 19 910 1 "9 19 it |

o SW L AAAN r§5y—— I
N4 V. L, |
[ o & ] | E DC Al

Q |

=T 1te)

A Type-A chopper circuit shown in Figure 1(e) below supplies a motor
load from a DC source. Determine the value of maximum average

current ot the switch SW for constant load current operation of motor. 10
O SW LA 55— I
+ N A R, L, :
s o = = - DC Motor
—0 | :

Qi

Figure 1(e)
SDF-U-ELTE 4
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Q2. (a1 T 2a) ¥ zwiu v ufy & AU g i, 4o i, % A9 GEy 8y A it
$ifu |

@ GmHg <i>3i1

10 cos® 10tV

ferd 2(a)
Determine the expressions of currents i; and 15 in time domain for the
circuit shown in Figure 2(a). 20

. b

{ —
500 ukF
C D
6 mH -
10 cos® 10t V
%
Figure 2(a)

(b)  Ueh FIE oATeA oh1 arfirerare gfasnar 50 O 2 311 38 75 Q & &S Yy g
Ay foram a1 8 | 38 AT R U S, Taadhl A wfqsman 50 3
got iy 1 fiw fawa 30 vV, B, % g1 Sifa e a2 | 3| A B

TS 3 qUTeEd ! 2-25 AT AT 6l T8 B |

3id ﬁﬁm :

(1) T gfder

(ii)  ATchIcTeh IS o1 JRAT

(iii)  ATcehlfeTeh Yith A ST ol Jad i T8

A lossless line has a characteristic impedance of 50 (2 and is terminated

in a load resistance of 75 Q. The line is energized by a generator which

has an output impedance of 50 2 and an open circuit output voltage of
30 V__ .. The line is assumed to be 2-25 wavelength long.

- - e, | SSRGS re—
)
34
|5

Determine : 10
(1) The output impedance
(1)  The magnitude of the instantaneous load

(111) The instantaneous power delivered to the load

SDF-U-ELTE S
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(¢) T 2(c) H WU MU 3AG-UFY qahaish 19y § FHq fave w9 $ifse afe =0
Bt @ g fAafaa e smu, Sen foe fag 9 2ot mn 2 i w1y &),
f1d fave = Ju-wq &1 99 F49130 |

Ry = 2:2 kQ

v

- 10V

7%72((:*)

Determine the output voltage of the op-amp differentiator circuit shown
in Figure 2(c) for the triangular wave input as shown and draw the
output voltage waveform. 10

Rf — 22 kQ

0-001 uF

|
10V
o 1 %
" | 29 e / & > V.,

figure 2(c)

(d)  YTETHR FHACd YRUY Hige U hal (@93 i TEd d JFaqierd o
Hwﬁmwtﬁa?ﬁwquﬂﬂﬁﬁwlwl‘ﬁﬁql
g0 HicL i Iic © favg Vu 3R VB, (31 T oo am9 | gushifure fohe
gl # 3@EE 8) grd ufvd fem Sw, a1 umfoa Fifse 6 5w "ier %
AW FA-3TU T IRET 3a91 & B e e m@gfera g% faa
SV, V& ST @ 9IS B

Explain the operation of a two-phase induction motor under unbalanced
operation with the help of relevant equivalent circuit models and phasor

diagram.

A Pl

It the apphied stator voltages to this motor are V, and Vﬁ (in time

quadrature but unequal in magnitude), prove that the starting torque of

this motor 1s same as that devoloped when balanced two-phase voltage

of magnitude JV{I Vi3 1s applied. 10
SDF-U-ELTE 6
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Q3. (a)

SDF-U-ELTE

o femmw Mo gfieen sHadt H, i T, & -6 AW AR Ty
Z4-31 & ot &1 9 IAUd T, U B, Al [ A T; & =gHdA
TH-AT® B iy T 79061 8, (Topr > tgomin) |

iy iy, (51 T omsfizer T v Ty % e <k wmm &), T ateedt Vi, T
Ficed Vy, @8 4 ip,,q 3T YR 9R i, & T8 el § qul-&9 {@iihd
£ifu | ufigy & FEUUE @ fveme fifae (vgEd: @e-1, "18-2 AR
We-3 §) qun au-wy o g fafiaw wigm $1 ggem Hifw | AR fageryor
aqiTaa GHieRtoT den ekl sgeqta g fehan ST dehdl B |

C L

1 L,
> | 558
+ — € >
I F&VC—‘H " VT —
21 | 4

=17 3(a)

For a series inverter shown below, the time interval between the instant
Thyristor Ty is turned OFF and the instant Thyristor Ty 1s turned ON 1s

T, ¢ seconds; where T ¢ > tg_ i, (minimum turn-off time of Thyristor T).

Draw steady state waveforms of igl, ig2 (gate currents of Thyristor
T and Ty respectively), capacitor voltage VC, inductor voltage Vi, load
current if,.q and supply current i;. Analyse and identify in wavetorm
drawn, different modes of circuit operations; namely Mode-1, Mode-2

and Mode-3. Analysis may be accompanied by relevant equations and

their derivation.

T4 i C L
> " | - }FW N
Y HLoad
T T, VRS R
R

Figure 3(al
/
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(b) A= e MU g1 Hehdll 1 HaTH (FAGIEIIH) TG hiforw qun Farfim SR
2, -1<t<1
x(th= : 1, l<t=<3

0, 31T

L

AT hit) =28t + 1) + 8(t + 2)

Determine and sketch the convolution of the two signals given below : | 10
2. =1<t<1

xid) = = 1. 1<t<3

0, elsewhere

and h(t) =26t + 1) + 3t + 2)

(¢) T 3(c) ¥ g T g9y & foru fooran qoress (=fafadt daer) S(p) &1 =99
cqd HIIT |
+ Vcc '
R, 3Re
—VVVV
e
J}g
7T
fI7 3(c)
For the circuit shown in Figure 3(c), derive the expression for stability
factor S(j3). 10
& VCC
Ry, <R
—VVVV
Trrr
Figure 3(c)

SDF-U-ELTE &
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(d) Th H Fighda deha (faer), I fF ams (FER) dd o, = 27 x 105 @
I 8, fAefcfiga g gro afofa 2 -

dpp(t) = 10 cos (v, t + 5 sin 3000 t + 10 sin 2000 rt)

3T I -

(i)  Higicrd Tehd i Wfh

(i) T fa=eq Af

(iii)  To=e 3UTd B

(iv) % fo=em ag

(v) E1g #, dpp(t) T 98 ! SR T AN I |

An angle modulated signal with carrier o, = 2r x 10° is described by the
following equation :

| dppit) = 10 cos (o, t + 5 sin 3000 t + 10 sin 2000 nt)
Find : 10
(1) Power of the modulated signal
(11)  Frequency deviation Af
(11) Dewviation ratio 3
(iv) Phase deviation A
(v)  Also estimate the bandwidth of dppr(t).

Q4. (a) U Agha wighaa (FM) oha (FaHer) &1 stgia fa=e™ 5 kHz 8 91 8@
Aiged g 1 kHz 8 | it fseeer & faw (3992) W ahd (ead) @
@ (A7EH) &1 A9 20 dB & | fedaet & Ta (3m3eqe) W &ohd (Tamet) 3
1d (ATgd) Aurd skl Fiehe MO hifSw | I8 aW &ifau f& feeaer smam 9
qftadd ¥ quia: Auifad § de 98 @a: %1 @ (A7E9) i 76 Sea 2 | gy
&1, Teeaet = Teha (fomier) @ @ (ATEd) 19T § GUr i T0ET1 Hifew |

An FM signal has a frequency deviation of 5 kHz and a modulation
frequency ot 1 kHz. The signal to noise ratio at the input to the receiver
detector is 20 dB. Calculate the approximate signal to noise ratio at the
detector output. Assume that the detector is completely unresponsive to
the amplitude variations, and it does not add noise of i1its own. Also,
calculate the improvement in signal to noise ratio in the detector. 20

SDF-U-ELTE %
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(b)

(C)

SDF-U-ELTE

Tk DC 9d 99 (¥12) FiHE (IHRAR) 3wl fa 1fd 1000 rpm W FeTd 7Y
faiied qui &g 9mr 120 A, 31f6a aleedt 105 V DC W 2 Gehat 2 | faa ofa
IR ferd Ficedl W I &1 (394 99) Aferemn faawo = fegr mn 2

& G, A 1 9 3 4 5 | 6 7

% | 66 | 8 | 100 110 118 | 123 |

| . T .-
gd g Fraa nfa 3 stfea geea w we Ifa & afmen & fou a3
gy =1 fAutor seifas &= gfaig & srurd J SIS |

gt feor g1 (S T o9 3 soamd &1 @ =71 2) < et Wiw 600 W Bl 1 39
A3 1 Fiusan garar &1 gH F7d sifdu: g8 fear man 2 o6 sifeha srawena
4 A sl T=TAT 2871 85% 8 |

A DC shunt generator running at rated speed of 1000 rpm can supply a

full load current of 120 A at a nominal voltage of 105 V DC. The no load
(open loop) characteristics at rated speed and nominal voltage 1s given

below :

Ic9d dieedr, V

F_Field Q_urrent,A 1 —2 3 _-4 5 6 I 7
 Generated Voltage, V| 36 | 66 | 86 100 110 | 118 | 123
Graphically determine the field resistance of shunt generator for its

operation at nominal voltage at rated speed as a ratio of its critical field
resistance.

If the total fixed losses (rotational and iron) are 600 W: find the value of
maximum efficiency of the generator; given that the generator operates
at 85% efficiency in nominal conditions.

w%amm:ﬁ T&gq—éﬁ E} = x< ’Eix + X fi}r V/mﬁmﬁ?ﬂW%
fearsu o a8 foeqq-aa Tl wdfaes-fag emmaw & faawor gro scaw 34
g Tl |

Uk 5 m TRl =0T @134 ! 20 MHz 379 9 Sf=1 A1 8 |
ATE & YgL BR 1 Wic Hiche fhaAT AT@ B, o1 IV BT T 4-61 Q
yfgenen Bl @ o 99 g2l BN ® gen B8 fEm I #, @
1390 Q H fdsnar urea gidt 8 | @A Hi Afes gfqaran va g
feeres ot o ShifST |

A,  two-dimensional field given by
E =x? 3, +x a, V/m. Show that this electric field cannot arise
from a static distribution of charge.

A transmission line of length 5 m 1s tested at a frequency of
20 MHz. When the far end of the line i1s short circuited, the
impedance measured at the sending end is 461 QQ and when the
far end 1s open circuited, the impedance becomes 1390 Q.
Calculate the characteristic impedance and propagation constant
of the line.

(1)

(11)

electric 18

(11)

10

20

10
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' | @vus B
SECTION B

Q5. (a) Tr=fafga gerdi (famaed) &1 Sce®@ &91at F1d AT

(1) xq(t) = e at ¢cos (m,t) ult)
(i) Xolt) = e 2t sin (w,t) ult)
Find the Laplace transform of the following signals : 10
(1)  xq(t) = e 8t cos (m,t) ult)

(11)  x9(t) = e 2l sin (w,t) ult)

t (b) Trafafaa == 1 et femfia gro atefism S
| Y=AC+AB+C)+CB+C)

a1 TIeAihd o 1 dlloTeh G EifeC |

Simplify the following expression using Boolean algebra :
Y=AC + A(B+C)+ C(B + C)

and draw the logic diagram for reduced expression. 10

[ (©) " X v medig afas R fAER m =0 3 o =12 | IGEH
' Y &1 WTfaehdl 99cd %etd A1d @hifag, Seih
| Y=aX+b#l |

,} Assuming that X is a Gaussian random variable with m = 0 and ¢ = 1,
find the probability density function of the random variable Y given by

r Y =aX +b. 10
; (d) @W % gl 7l % fau, fo osd) § fer o ooty @ aw i) w1 g
i ﬁﬁm |
' 100u(t) V o
3 MA——
N Lice)
i
' 100 V — 5 Q é % 104

SDF-U-ELTE 11
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Determine current i(t) in the circuit of Figure 5(d), for all values of time. 10

100u(t) V & o
&
Lice)

100 V — 5Q§ ng

Figure 5(d)

(e)  Ueh ®Id V, = 220 sin 314 t g 9ifYa - aren srd-aun fafiq feseerd
(Uebehran) uftgy vk R = 10 Q 97 i 3mqfd 2 @1 2 | 38 i (3m3eye)
Jreedl (V) 1 Sl =2, fGrdrl gadl () 3 JRasHt 3w e
(TUF) 9d &$If9u | g%t &l gH3fgd d2n s@fer & o = w4 §H

AT |
{>K Xt
o = 1/4
_ Vs® g § vV, §R=10£2
5_
220012 Vi
=17 5(e)

Determine ripple factor of output voltage (V,), rectifier efficiency (1) and
transtormer utilization factor (TUF) for a single-phase half-wave
controlled rectitier circuit fed from a source V, = 220 sin 314 t to a load

R = 10 Q. Assume firing angle « = w/4 and transformer to be lossless. 10
M X+
o = T1/4
V;-;@ % g Vv, §R=10 Q
5._._.
220/12°V
Transformer

Figure 5(e)
SDF-U-ELTE 12
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' Q6. (a)

(b)

(c)

SDF-U-ELTE

U FATR-TEN HYg ol a8 W 38 @ ¢ e ot 6 = 4 S/m, ¢, = 81 3R
u. =12 | 98 BAT3-F&T UHh Hohd (fqHeT) 1 MHz & Hdd U1 & €9 H
vaTiE wtar & Taeht fag@-a &1 digar 1000 V/m & 3R a8 St 919 &)
IR FA B | IR F W B 20 pV/m H FAdH Hhd € T Bq
aTEe, a1 gAges] hi Ffeehdd R TUE FTd hitaT |

An aeroplane flies over the surface of the ocean for which ¢ = 4 5/m,

¢. = 81 and p. = 1. The aeroplane transmits the signal in the form of

1 MHz plane wave having an electric field intensity of 1000 V/m and
propagating vertically downward. If a submarine requires a minimum
signal of 20 uV/m for adequate reception, determine the maximum

communication depth of the submarine.

U Hfera F-%s Ye qonell, @R &g dicear 400 V 8, TH 1500 W &
Y-hawee YR Y 0-8 SAifen urat $eaer w agfd Ft g | AEA 9 3 AlS
yfcarean afd % F1a HIfST | A9 T 900 W T JehEiE ddfcid WR yoredt o
T | A1 A1dT & | uiafdd 98 @rea amg s @ qisn geft 2

A balanced three-phase supply system with a line voltage of 400 V 1s
supplying a balanced Y-connected load with 1500 W at a leading power
factor of 0'8. Determine the line current and the per phase load
impedance. Now, a balanced 900 W lighting load is added in parallel to

the system. What will be the new line current ?

NAND TI&i &1 39917 d U U Wared (Fafedd) Sghiud &I Hraft-=d
Sifs 3t zEeh Hrafafa w1 ausmsT |

Implement Astable Multivibrator using NAND gates and explain 1its

operation.

13

Prepp
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d) 7 6(d)d feu mu gftgy i wEdw giifeafamt w fewgft Hifsm |

OVCCZ—BOV
R
Ry, C
10kQ£TIB 159%”% éRL f
C
] -
R
g Re '—“-C
-1 e
V. 5 1
Trrr I
7 6(d)
gt & fo1T, B = 100
ICO=1H‘1A
(Vog = 40 VI )

For the circuit given in Figure 6(d), comment on its operating conditions. 10

oVoe=—30V
R R. |
101;21%1}3 159%”% %RL i

Figure 6(d)

For the transistor, § = 100
Ico =1 mA

(at VCB =40 V)

SDF-U-ELTE ] 4
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Q7. (a) U UA.H.30R. dF HHAINGd 37t GHIS g1 ATARE B

y(n) — % yin—1) + ; yin —2)=2 x(n)

(1) T bl AT FRA1 T1d hifdw, Ifg a3 °

: Il
SCE) = [jl] a(n) SifE &1

(i) Fa (3m3TR) y(jw) H1 srgia sfman, 3 y(n) F1d IfT |

An LTI system is characterised by the following difterence equation :
3 |

(n)— - yin—-1)+ -~ y(n~-2)=2 x(n)
y 4 Y 3 y
(1) Find the impulse response of the system, if the input to the
N
system is x(n) = [%J u(n).
(11)  Find the frequency response of the output y(jw), and y(n). 20

by a3 7(b) ® Tl MU JFET, M dieed faursie a=&@ & @19 8, & Iy 3 Vg
&1 futfta i | 39 JFET & 3mafie e Am @ 8 fb V= 7V 8 |

Vb
o+ 12V

1y

R
o8 ML

Vp

>

:= R, R
1-0 MQ 2:2 kKO

157 7(b)

SDF-U-ELTE 15
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Determine Ip and Vg for the JFET with voltage divider bias as shown
In Figure 7(b). The internal parameter values of this JFET are such that

Vp=7V. 10
Vop
o+ 12V
V1,
R
» Rp 3:3 kQ
68 MQ

R,
IOMQj 221{9

Figure 7(b)

(¢) U gHSHI (fashia) weita (Swey/mer) e guerfers gfaum X, for
8, 3R 9w for i dicear v, 3t feor 3a9H dieedt E,, W =em o1 @
2, & foru fommsu T gus ami=r it 970 & $ A A% T gy famgey
SN | o T 415 a0 36 1, 1 gef femguy Zfsw |

Show that the locus of the tip of the armature current phasor is a circle

for a synchronous machine (Generator/Motor) operating at a constant
terminal voltage V; and a constant excitation voltage E, ¢ with a fixed

synchronous reactance X,. Draw the phasor diagram and show the
circular locus of 1. 10 |

(d) =T 7(d) ¥ giY 7T ISF qeh IRUY I AW §9 H T | |
A—D :

s =Dt DD

C—>o— ;
|

SDF-U-ELTE 16
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Reduce the combinational logic circuit shown in Figure 7(d) to a

minimum form.

A—>0—

B— >0

O e—

Doy

o

Do

Q8. (a) U& UT&dA &d A/D GUNEdT o1 WU (scdieh) HANE Wilaw 3t 39 = &

g & aqsmgT |

Draw the block diagram of a single slope type A/D converter and explain

Figure 7(d)

its principle of operation.,

(b) U 3-TT ITA YIYF (TFeATRrET) =& =N o (faiad fafien 3

St Wik 3t e
1 10 2
2 25 4
3 30 D

qqul (afteaeatta) WfE gig (TR 79) 3iv @i f T 9B § fife o 1@

dT9HTA sh! TUET =hHitT | e aiiEafaat am s |

| A 3-stage amplhifier has stages with the following specifications :

Stage Power (Gain Noise Figure
| 1 10 2
' 2 25 4
3 30 5

Calculate the overall power gain and noise figure in dB and the noise

temperature. Assume matched conditions.

SDF-U-ELTE
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Ush Feehid 9y = fe@mn men g e Al-ni-co-5% [, = 1:0 ¢cm &9 @
STHT Th 3w FRAHICAA] (1 — oo) AT B H A §U & | R, Al-ni-co-5
AR I AAA & FIEI-HIE &IFA s 8 | gy Faua (F5aeh
TS ‘e’ =02 cm %) 4§ fpiam gvme g 3 |

Al-ni-co-5
_ _ 2
m;& A=A, =40 cm
IT1
u, = 4mn x 1077

—>| zm &—
3
! g i “’{p Ag

— 11 e—

Al-ni-co-5

T 8(c-1)

afe Al-ni-co-5 9214 % B-H 9k ol fgdta gquisr ¢ s w9 0 smifa fen
T, ot 39 T grT eI A1 Hehdl @ |

R ICED *B. T
_________________ . 10
e+ 05
H, |
* \I i } } |l
H,KA/m 50 —-40 —-30 —-20 -10 0
o7 8(e-2)

39 Y39 o v YR @1 (118 @rsd) &1 g Jd hifu a9 36 TSR 9
A< H Y18 (FTFE) & o9cd (B,) T 0 J1d HIT |
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A magnetic circuit shown below consists of two sections of Al-ni-co-5 of
length /., = 1:0 cm embedded in a core of high permeability (u — ). The
r cross-sectional areas of core, Al-ni-co-5 and air-gap are equal. The
} air-gap length ‘g’ = 0-2 cm has neglible fringing effect.
Al-ni-co-5

B e
W, = 471 X 107

BY Moy

Al-ni-co-5
Figure 8(c-1)

If Al-ni-co-5 material B-H curve in second quadrant is linearly
approximated, it can be given as below.

Linear 'B. T

Linear 4 05

| | |
H kA/m _50 -40 -30 —-20 -10 0

Figure 8(c-2)
Determine the slope of load line for the problem and hence determine
f' the value of flux density (By) in the air-gap. 10
d) gn) = |n|ja'?l ¥ (Famar) &1 2w 9@ (cawd) J@ Fifse | @y &
| ROC #ft 31d hifsw |
k Find the Z-transform of the signal g(n) = |n|a Inl Also find the ROC. 10
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